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1.8mx 1.2m
X 0.4m
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Case
t/m3 kg/m? | kg/m3| kg/m3| I/m3
1,2,4,5( 0.680 180 180 297 578
3 0.770 210 210 329 523
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Case
gy kKN/m? 0 , kN/m? Case Gy | o, | O gt | Perak | Prax
1 500 150 kN/m?2 kN
2 500 55 1 6246 | 1565 | 36.4 | 60.3 | 98.2
3 1000 150 2 6505 | 54.2 | 42.3 | 46.0 | 60.1
4 500 150 3 766.6 | 157.1 | 64.4 | 86.0 | 94.0
5 500 4 | 6588|1560 | 13.9 | 35.0 | 50.1
5 5359 | — 372 | 26.8 | 26.8
5.
2 2
z +4 h-O,
o, = 1
Case? 3 Casel 5 dt 2
Perack P max 1 Th Ph
O dt 3 Case
3 8
2
Casel 2 5
Casel 2 5
2
12 47
Casel 3 1
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